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Ex	
  #4:	
  Mr.	
  Sullivan	
  planted	
  a	
  Buckeye	
  tree	
  in	
  honor	
  of	
  them	
  winning	
  the	
  national	
  
championship.	
  After	
  4	
  years	
  it	
  had	
  grown	
  to	
  be	
  12	
  feet	
  tall.	
  After	
  8	
  years	
  of	
  growing	
  it	
  had	
  
grown	
  to	
  be	
  18	
  feet	
  tall.	
  	
  
	
  

a) Write	
  an	
  equation	
  of	
  the	
  line	
  the	
  models	
  the	
  growth	
  of	
  Mr.	
  Sullivan's	
  Buckeye	
  tree.	
  	
  
	
  
	
  

b) How	
  tall	
  was	
  the	
  tree	
  when	
  Mr.	
  Sullivan	
  planted	
  it?	
  	
  
	
  
	
  
	
  

	
  
	
  

6.6	
  Use	
  Linear	
  Equations	
  in	
  Slope-­‐Intercept	
  Form	
  
	
  

1. 	
   a) (1,	
  1),	
  m	
  =	
  3	
   b) (-­‐4,	
  7),	
  m	
  =	
  -­‐5	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

2. 	
   a) (8,	
  -­‐4),	
  m	
  =	
  − 3
4
	
   b) (-­‐3,	
  -­‐1),	
  m	
  =	
   1

6
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

3. 	
   a) (6,	
  2),	
  m	
  =	
  0	
   b) (-­‐2,	
  -­‐3),	
  undefined	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



	
  
	
  

	
  
4. 	
   a) (1,	
  4),	
  (2,	
  7)	
  	
   b) (10,	
  -­‐5),	
  (-­‐5,	
  1)	
  	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

5. 	
   a) (7,	
  8),	
  (1,	
  8)	
   b) (5,	
  1)	
  and	
  (1,	
  3)	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

6. 	
   a) (7,	
  8),	
  (1,	
  8)	
   b) (4,	
  -­‐1.5),	
  (4,	
  4.5)	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  



9) Write	
  an	
  equation	
  of	
  the	
  line.	
  

	
  
	
  

10) Write	
  an	
  equation	
  of	
  the	
  line.	
  

	
  
	
  

Identify	
  the	
  Domain	
  and	
  Range.	
  The	
  write	
  an	
  equation	
  for	
  the	
  line	
  that	
  would	
  go	
  through	
  the	
  given	
  points.	
  
11)	
  	
  	
  	
  	
  	
  Domain:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Range:	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Equation:	
  
	
  
	
  
	
  
	
  
	
  

12)	
  	
  	
  	
  	
  	
  Domain:	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Range:	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Equation:	
  
	
  
	
  

Use	
  the	
  table	
  to	
  write	
  an	
  equation	
  of	
  a	
  line.	
  
13) 	
  

	
  

14) 	
  

	
  
	
  
	
  
	
  
	
  
	
  

15) 	
  

	
  

16) 	
  

	
  
	
  
	
  
	
  
	
  
	
  



	
  

6.6	
  Use	
  Linear	
  Equations	
  in	
  Slope-­‐Intercept	
  Form	
  	
  	
  
1)	
  Through	
  (-­‐1,	
  2),	
  m	
  =	
  -­‐6	
  	
   	
   	
   	
   2)	
  through	
  (1,	
  1)	
  and	
  (3,	
  -­‐2)	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
3)	
  You	
  find	
  a	
  jar	
  of	
  quarters	
  on	
  the	
  sidewalk	
  and	
  decide	
  to	
  start	
  collecting	
  them	
  to	
  cash	
  in	
  at	
  the	
  end	
  of	
  
the	
  school	
  year.	
  You	
  are	
  able	
  to	
  find	
  50	
  new	
  quarters	
  every	
  week	
  and	
  after	
  5	
  weeks	
  you	
  have	
  350	
  total	
  
quarters.	
  	
  
	
  

Write	
  an	
  equation	
  that	
  gives	
  the	
  number	
  of	
  quarters	
  as	
  a	
  function	
  of	
  how	
  many	
  weeks	
  passes.	
  	
  
	
  
	
  
At	
  the	
  end	
  of	
  school	
  (24	
  weeks)	
  you	
  cash	
  in	
  your	
  quarters.	
  How	
  much	
  money	
  do	
  you	
  have?	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
Write	
  the	
  equation	
  given	
  the	
  table	
  and	
  answer	
  the	
  question.	
  
4)	
  

	
  

5)	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  



	
  
	
  
	
  
	
  
	
  
6)	
  After	
  his	
  HELLO	
  KITTY	
  business	
  failed	
  Mr.	
  Kelly	
  decided	
  to	
  start	
  a	
  new	
  business	
  selling	
  pencils	
  to	
  kids	
  
who	
  don’t	
  bring	
  them	
  to	
  class.	
  After	
  1	
  month	
  he	
  still	
  owes	
  $2,	
  but	
  after	
  4	
  months	
  he	
  has	
  $7.	
  	
  
	
  

a)	
  What’s	
  Mr.	
  Kelly’s	
  slope	
  (rate	
  of	
  change)	
  for	
  this	
  
situation?	
  	
  
	
  
	
  
b)	
  What’s	
  Mr.	
  Kelly’s	
  y-­‐intercept	
  (initial	
  value)	
  for	
  this	
  
situation?	
  	
  
	
  
	
  
c)	
  Write	
  an	
  equation	
  of	
  the	
  line	
  for	
  the	
  given	
  situation.	
  
Graph	
  the	
  line.	
  	
  
	
  
	
  
d)	
  How	
  much	
  money	
  would	
  Mr.	
  Kelly	
  have	
  after	
  10	
  
months?	
  	
  

	
  
	
  
	
  
	
  
7)	
  Mr.	
  Brust	
  can’t	
  stand	
  Mr.	
  Kelly	
  beating	
  him	
  at	
  anything	
  so	
  he	
  
changes	
  to	
  selling	
  pencils	
  as	
  well.	
  after	
  6	
  months	
  he	
  only	
  has	
  $2	
  
but	
  after	
  3	
  months	
  he	
  had	
  $4.	
  	
  
	
  

a) What’s	
  Mr.	
  Brust’s	
  slope	
  (rate	
  of	
  change)	
  for	
  this	
  situation?	
  	
  
	
  
	
  

b) What’s	
  Mr.	
  Brust’s	
  y-­‐intercept	
  (initial	
  value)	
  for	
  this	
  
situation?	
  	
  

	
  
	
  

c) Write	
  an	
  equation	
  of	
  the	
  line	
  for	
  the	
  given	
  situation.	
  Graph	
  
the	
  line.	
  	
  

	
  
	
  

d) How	
  much	
  money	
  would	
  Mr.	
  Brust	
  have	
  after	
  10	
  months?	
  
	
  
	
  
	
  
	
  


